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Answer Sheet (Part A: Multiple Choice)
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Lecture # Instructor Day Time .
1 Abdalaziz Shawabka T,R | 14:15-15:30 |. | M. Choice /12
2 Isma'El Badran T, R | 10:00 - 11:15
3 Ghassan Abbas T, R | 12:50 - 14:05 Problem 1 /4
4 Abdallah Sayyed T,R | 11:25-12:40
5 Zafer Hawash T,R | 10:00 - 11:15 Problem 2 /4
6 Wael Karain T, R | 11:25~12:40
7 Rula Bakeer T,R | 14:15-15:30 Total /20
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1. A stone is released {:iuf) from a high building. If the stone covers {z8) the first
quarter (Js¥ & (i.e. 0.25} of the building height in 8 seconds, then the total

time it takes the stone to reach ground is 2 e

a) 20second ;‘ A - J df' ‘(_ J_ L\

b} 18 second (./ z J o %_
o }

¢) 24 second
d) 12 second = % 3 .E 2 L\/{'
@16 second P _E__——_—__/ ‘('

I £ L R =
L4 ' 'f' =+ al"h i 'ZX '
2. A 1000 kg racing car {3l 34w can accelerate from rest to 108 km/h in 7.5

seconds. Assuming constant acceleration, the force needed to achieve (e dwasy)
such speed in this time interval {4s3_58) is?

a) 5000 N s 7af /em/é _ 20 Mé

by 3750N e
d) 2500 N 9 :
4000” A = ¢ M/S y = ma = 009 XY = Yo N I

3. A cheetah {2¢) with a speed of 90 km/hr is chasing (-5 =S ) a ghazel (Jij#)
running at 20 m/s in a straight line. If the distance between them is 40 m when
the chasing started, in how many seconds will the cheetah catch the ghazel?

|
8.05 | _/U;-; 20 k”‘/lh‘: ,‘{S‘”M[f !

b) 7.0s =

c) 4.0s w- U - 25-4a7 2 M/f :

d} 6.05s r C ;

e) 505 £ ’_a/[___ - Yo _ %0 S |
= wr *'—““b, |

4. A car travels from Birzeit to Ramallah at an average speed of 70 km/h and then !
hack to Birzeit at an average speed of 50 km/h. The average speed of the car for ]

the whale trip is: - ' i
a) 60 km/hr - = f{f‘ﬁf = “/G-’:Z_ic{-_—- [

@ 58 km/hr (_+d {-J a4 i

¢} 53 km/hr M i :
d} 75 km/hr { 7 .
e) 72 km/hr - aY Vo = AXF0 )(9'(] o sS4 e ny'

v, U, /R0 |
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5 A small stone is tied to a string (ks of length 0.5 meter. The stone is set into a
counterclockwise (el e Se) horizontal uniform circular motion on a

smooth (=U) table. The velocity of the stone at one point is —5I m/s. The

acceleration of the stone (in m/s?) at this moment is =2 et
. & - -
a) 2007 q}"_) T .40 “?’1
b) —200i i | - < - = - S
c) 10t 5 Y g~
— n
d) 107+ 10§ -0
- —5
@ —50f & - J
6. Let5:3i+-2jand§:32-3j‘ AxEis . o
a) | —2  ~) Ln J k
b} 2%+ 3} AXG = )
o 40— 2f+ 2k 3 2
d) —k 3 4_3 G

7. A car traveling along a straight road increases its speed from va = 10 m/s to v2 = 30
m/s in 25 seconds. if the car’s acceleration is constant, what is the distance

traveled by the car? — RY
v - T
7 0430 0 ¥,

a} 400 m /E’— - /;
500 m _ I
@30011; Ax-ubt= ZOXN255590 m
d} 250 m
e} 600m

8. A girl wishes to swim across a river to a point directly opposite as shown. She can
swim at 6m/s relative to water, and the river is flowing at 3 m/s relative to ground.
At what angle 0 {in degrees) with respect to the line joining the starting and
finishing points should she swim?

-
Vi 2 R L L
= i J’w«
. 1< A T A
a} 37 e /) a m g : hK’i\, r RV g g
b) 53 J S A
!l/ B g

) 49 = au
((;030 j j ‘__) start
e) 75 P QU-w e
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9. A moving object has a position vector T = (2.0 + 3.0¢)f + (3.0 ~ 1.0t%)f , where
quantities are in Sk units. What is the speed of the object at t = 2 seconds?

al. 10 m/s — = n 0, -
Sm/s v = 4F ﬁﬁf‘ Zi-2t
c) 12m/s ﬂ’é ~— ] 9

Q) 8m/s af £- &, v =2c-Y]
e} 15 m/s ~ e — _
]4/“/ = «_jrz.—f-y?' Z' S Wl/j

10. The angle (in degrees) between the vector A=21+ \/§j‘ 4 3k and the y- axis is

égg' &59;’4)(,{3 :E
¢ “

120 — T =0
d} 45 IF}, «;}szf—g
g) 41 '

(9:6q®

11. The number of beats (<33} that your heart can make in your life time is of the

order of ’
Gt o beabi =
b}

e s e

1011 -
c) 107 = o Yr X 365 C’b’(']
d) 100 ‘? / q
e} 10% = /O

12. You are travelling in an accelerating train and noticed a small object hanging by a
string from the ceiling (¥} of the train tilted (J=3) at an angle 8 of 37 degrees
from the vertical as shown. From this information, what is the acceleration {in
m/s?) of the train?

a) 2.0 s &

b} 3.6 (OBN"/

c} 5.8 ’

: :
e) 18 — 5
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PARTB
1. {4 points):

The adjacent graph represents the velocity of an object moving along the x-axis
as a function of time. The velocity is measured in meter/second (m/s), and the
time is in seconds (s). Using the graph, answer the following questions:

3
a. {1 point): Find the net 2 _ i ;
displacement from t =7 . 1o '
to t =12 seconds. 2 0 e L T
w f
ey E-1- 10
AX = oren z -2
&
vE et g f;r':
=@a-PXE N
= /0 mw S
time {sec)

b. (1 point): Find the acceleration at t =6 seconds.

azshpe = -0 5 o g5
75

c. (1 point): Find the average velocity during the interval t=10 to t=14
seconds. - ),
- = - L .
vz éﬁ = -5 1 =0 1”\/
N - Y £

d. {1 point): At what time does the object reach maximum distance along
the positive x-axis?

A¢ E<2 /45 S
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2. {4 points):

A helicopter flying horizontally at constant velocity releases (<ilsl) a bag from a
height of 500 m. The helicopter's horizontal velocity is 100 m/s. Find:

a. {1 points): The bag's speed when the bag is just released from the

helicopter.
Uh_a: v = /00 mé‘ WW’%

U

b. (1 points): The bag's speed when the bag hits ground.
L ?
v, -, , -C
A
=0~ AxjAkSO0 = (0797
Jy = ,00 /s
c——

- n g
v = re0C-/09)
R

- Z R i
V(= //00 +100 - ad 4
c. (1 points): The time it takes the bag to reach ground.
Vy = Vay ~ § t
A0 B oot =£t=1053
18
. oY=z Veyb_-Lgf
=~ 5T = -S-‘éLc:? 'F:/OJ

d. (1 points): The horizontal distance covered by the bag.

x= U, L=ro0k10 = /000 m
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